Lattice 2 by 2

Name:

Use lattice multiplication to solve each problem.

1 86 x 51 = 2) 27 x 43 =
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64 x 86 =

Answers
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Lattice 2 by 2 Name: Answer Key
Use lattice multiplication to solve each problem. Answers
1) _ 2) _ 3) _
86 x 51 = 27 x43= 64 x 86 = " 4,386
8 6 2 7 6 4
3 A2 3 7
4 5 O/,’ 4 4 ’/,' 8 2 11161
4 0 0 1| 8 8 5 g |~ 2
0 0 Ao 2 3 2 7 3. _ 5904
8 6| S 1k 6| . 4|
3 1, Pt 5 L 4 8,160
8 6 6 1 0 4
5, 3,948
4) _ 5) _ 6) _
96 x 85 = 94 x 42 = 89 x50 = 6 4,450
9 6 9 4 8 9
4 A1 4
7 8 3/,/ 4 4 s |7 2,784
8 2 8 5|7 6 6 4 ol.~ 9
4 3 1 710 0 o 8. 1,134
5 0l° g g | ol 0]°
1 9 |.” 4
6 0 4 . 8 5 0
10. 1,666
7) 8) 9)
87 x32= 21 x 54 = 15x61=
11. 960
8 7 2 1 1 5
2 2 3 1 0 5 0 3 6 |l 12 5,152
5 4 1 1170 5 0 6 .~ O
1 1 o . 0 0 0o
2 4 Sl
7 6 4 11 8 4 9 1 ,," 5
8 4 3 4 1 5
10) 17 98= 1) 48x20= 12) 9o x56=
1 7 4 8 9 2
6 A 1,7
0 BE 0 K 4 PAE
1 9 ol 8 5 5 7
0 5 0 .”|0 5 1
8 0 |6
6 8 6 9|~ O 0 1 4 ’," 2
6 6 6 - 0 5 2
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